
WF321204

01-11

ASSEMBLY INSTRUCTION

PATIO CHAISE LOUNGE



02-11

A

B

C

D

E

F

F

G

x2



03-11

A    x2 B    x2 C    x2 D    x2

E    x2 F    x4 G    x2 Hardware   



04-11

A    x2 B    x2 C    x2

D    x2 E    x2

G    x2

F    x4



05-11

BOLT M8 x 65MM BOLT M8 x 45MM BOLT M8 x 40MM

BOLT M6 x 60MM BOLT M6 x 20MM PLASTIC WASHER 5MM

WASHER M8 WASHER M6 NUTS M8

NUTS M6 PART I SHORT ALLENKEY

WRENCH M8 WRENCH M6

1    x6 2    x4 3    x12

4    x8 5    x20 6    x4

7    x28 8    x32 9    x6

10   x4 11   x4 12   x2

13   x1 14   x1



STEP 2

06-11

STEP 1
1  x6

7  x16

9  x6

5  x8

 8  x8  

11 x4

2  x4

x2

x2

A
B

2

7

7

9

1

5

8

11

A B

Connect  The Rear Seat Body (A) & Front Seat Body (B) With AllenKey (12), Wrench (13)

Connect  The Part From  Step 1 & Part I Short (12) With AllenKey (12)



STEP 4

07-11

STEP 3
3  x4
7  x4

5  x4

8  x8

6  x4

10 x4

x2

x2

A

B

C

7

3

A

B

C

G

5

10

6

8

Connect The Front Seat Body (B) & Front Seat Frame (C) With AllenKey (12)

Connect The Front Seat Frame (C) & Shape-u Frame (G) With Allenkey (12), Wrench (14)



08-11

STEP 5
3  x4

5  x4

A

B

E

37

5

8

 7  x4 

8  x4

x2

Connect The Rear Seat Body (A) & Rear Chair Legs (E) With Allenkey (12).



STEP 6

09-11

3

7

3  x4
5  x4

 7  x4 

8  x4

x2

A

B

D

5

8

Connect The Front Seat Body (B) & Front Chair Legs (D) With Allenkey (12).

5

8



STEP 8

10-11

STEP 7

A

B

F

E

D

4  x4
8  x4

4  x4

8  x4

x2

x2

8

4

A

B F

E

D

8
4

Connect The Arm Chair (F) & Rear Seat Body (A), Front Seat Body (B) With Allenkey (12)

Connect The Arm Chair (F) & Rear Seat Body (A), Front Seat Body (B) With Allenkey (12)



Finish

11-11

x2


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

